2 -16x+[ PraRAFAel o [ ]9 ge?
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(x—8)% = x* - 16x + 64
ot [ |=64 olct
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O| AP A] 22+ 8x +24—m = 0 ] T2 REF dh=m 2 F2?

®8 @6 B0 @  ©@)s

=10

FTe 7T &2 +8x 4 24 —m = 0 o] LA FA] 0] Fofof
olE2L2 24 —m = 16

om=38
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y=-x*-2
(-3, @) & AUER
a=-9-2
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4. «/E°1'6P941}°ﬂ—’?47ﬂ 2 N 2 b‘}tﬂz<«/3<3°1ﬂi
)+ N (2) 4+ N (9) + N (10) ©] &

N(5) =20|th o N (1
“Fotol et
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Vi=2, V9=30]2&
N(1),N(2),N(3) =1
N(4),N(5), - ,N(8) =2

N(9), N(10) =3
SN@)+N(@2)+---+N(9)+N(10)
=1

)
X3+2Xx5+3%x2=19
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6.

A 54+3V2+3x—y = 2V2x - V2y-3 & WEslE falda, y 9
& Fotole
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v VvV V¥
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5+3V2+3x—y=2V2x—- V2y-3
(5+3x-y+3)+(B-2x+y) V2=0

3rx—y=—8
+) —2z+y=-3

r =-11, y=—-25




s 3= A
e T S gle AL
Ee 0 1 2 3 4
1.0 1.000 (1,005 (1,010 | 1,015 | 1,020
1.1 1.049 11,054 {1,058 |1.063 | 1,068
1.2 1,095 (1,100 | 1,105 | 1,109 | 1,114
1.3 1,140 | 1,145 | 1,149 | 1,153 | 1,158
1.4 1,183 | 1,187 | 1,192 | 1.196 | 1,200
1.5 1.225 (1,229 [1.233 |11.237 | 1,241
1.6 1.265 (1,269 [ 1,273 [ 1.277 | 1,281
1.7 1.304 {1,308 | 1,311 | 1,315 | 1,319
1.8 1.342 (1,345 |1.349 | 1.353 | 1.356
1.9 1.378 {1,382 | 1.386 | 1.389 | 1.393
O +1.91 @ V163
@ V0.0172 (@)vm
® +V1.52+ 0.000142
1
@ 19.3 = 1‘93XE
1
= 4/0.193 x —
100
~ +0.193
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Fojx BE o|-goto] & & it
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rlo
O

(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?

@16, 6, 3 @ 8,6,3 ® 16, 3, 6
@ 8, 3,6 ® 6, 8,3

~&B ~

a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)




9. 22 -8x-k=00°FZZ 7 W, 3> -(1-k)x+3=02 &

T-SHH?
@312\/3 @ —34_;\/5 5 —312\/7
@ 313\/3 5 —32\/5

B ~

2x2 —8x—k =0 °] & 7] =¥
D= (-8)2+4x2xk=0, k=-8
32— (1-k)x+3=00°l k= -8 YstH
3x2-9x+3=0
L V81-36 3+ 45
6 2




10. ]X]'O]'—r-y—(l(x p) —|—q_,] _j_EHJ-’-7]'§ (]. 0)%111’}

o

, ol 12

w9} y 2ol efto] o)Al Te o] HAHE] 2} (-3, ~5)L W,
apq @ #= Fotoi=t.
> =
- 75
y=a(x~p)* +q° BAH] HEE (p, q)
y & WA (-p, ¢) = (-3, -5)
Lp=3,9g=->5
y=a(x-3)2-59 JH=Z7t H (1, 0) = A==
0=a(l-3)2-5
)
=7
apq:—XSX(—E)):—?




